P EARAERKRIBFEREHRESHE
- L BRI R FREAE RRESHZ

x| kY Bul || vFPH | EH | EFER MR AR E | MRS | BEBC
1 [+2% -&% |5 [12701p| - [18:00 |BafF< 67 LAFFF1E '
2 |+2% |-dre | F (127018 - |19:20 |44+ F 2 5RBB2 BFF
3 |+2® |-d&kw | (127019 - |20:40 RFAEIARAPL \FFE
4 |[+2E |-dre | FF 129029 = | 18:00 (REBES1IREFL BFLE
5 [+2ke |-k | 127020 2 [19:20 P LAEEGABAPL FELE
6 |2 |—dp | GF (129028 = | 20:40 (AL AF 2 IFFAF 3FF
T |2 |- | (127039 2 [18:00 P LA H¥ 624K AF FFHF
8 |4 |-&ke | (127039 | =2 | 19:20 |RAPA41RRFL \FFAE
9 [+2& |-k [FF (1270302 [20:40 [RF+EF5RBB2|FFE
10 |*2e -4k | 9 (127 04P = | 18:00 (£ A< F2ARAPL|ZFH
11 |+2% |-dk |37 [129 04F | » | 19:20 | RBERL5-67 L F FFLH
12 %4 -4k |3 (127 04P |2 |20:40 (B2fF* 1-33FF|3F ¥
13| %4 -4k |7 127 05pP| 7 |18:00 ¥ L<H6-3RFF|3F ¥
14 |+2% -4k |7 [12905P| 7 |19:20 |RAPX4S5ABILIFLE
15 | +4e -4k | 7 127 058 | 7 |20:40 [Baf+ 1244 F|3F ¥
FRFHA &5 4
& LE T A LT = P 04 |BLAFF| X %
B AEF A
5
BF %
B
B3P
RN 4
- B2 BRI F FEBE FREESHE
x| ey L R A S LR L T A 11 MERE EEE | YRS | EMBE
1 |2 (-4 | (117 24p| - |17:00 A T2 %+ &2 5+ & :
2 |+2k |4 | F (119 24p| - | 18:30 (BAEF*6-3£F 8| E+ 8
3 |*+2% -4 | (11724P) - [20:00 B2+ 5 ABETR| 2 ELE
4 |[+2p |-k | FF (112 26p| 2 |17:00 |[HEFRABIRPLL |2 EE
b |[*2% |-#e | (117 25p| - |18:30 (A AR 3—TEAHfX |2 %%
6 |[*2& |42 | F(11225p| - [20:00 (BRAE]-HFL+F 2 HE




T |*42% |-k |8 (117 26p| = [ 17:00 RAEF*6—1 3R F |25+ F
8 [+2% |-4% | FF (117 26p| = |18:30 |BBAf+T-H3 2+ F|2 %1%
9 |*4% |- | g 119268 = [20:00 [~ %A B2 I HFAE|~ %8
10 [+2% [~ |5 (117 27P| 2 [17:00 |BRAE1—THAfX |2 F+ &
11 |[*2% |-k |57 (11727Tp| = |18:30 £+ ¥ 3FAHIFTR| ~EF
12 [*4% |-4% | 35 (112 27TPp| = [ 20:00 |B2X 852 %A F|2 g1 5
13 |*2% |-%% |3 117 28p| 7 [17:00 |2 %~ E2-63 R |2 %+ %
14 [*+4% |-4% | 3¢ (117 28p| 7 | 18:30 |[REFTRA4—IBE A E|2 F1 8
15 [*4% |4k |38 (117 28p| 7 [20:00 |B2< 853K~ §|2 %+ 5§
16 | 2% |-&% |7 (127 01p| - [ 17:00 |3 BfL* 6—THLAF L |2 %+ 5
17 [~ 2% |4k |35 (127 01p| - |18:30 |2 <2 4B TR|2 %+ 5
18 |2k |4k |57 (127201P| - |20:00 B2+ 8 1 JIHT§|~EF
19 |+ 4% |-4ke | 5 (127 02p| = | 17:00 [HEFRATELP L (2 5+ F
20 |*4E |4 | (12702P| = |18:30 [BEAE ] 2% B |2 5E*E
21 |[+2% &% | FF(12902P| - | 20:00 B2 E56BRPL | HFFE
B FHA A

A w3 | B | #A || @4 A0 |[BALAPF| &x =
3R F

v ELE

HTAEB

BET R

LA 4

T

B4




